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> Linearized knot diagam
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5 1 8 2 3 10 11 4 1 7 8

10
11
Sl
U Solving Sequence

1,6—2—>53—>48—>9—>11—>7— 10 — 6 —>> €3,C5,C9
C1 C2 Cq (& C11 Cr C10 Ce

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

(u'® — 20 4+ 6u® — 8u” + 13u’ — 15u° + 14u? — 15u® + Tu? +2b — Tu + 2,

It =
—2ut® + 50 — 16u® + 2607 — 4208 + 51u® — 49u* + 506> — 29u? + 2a + 23u — 9,

u't = 3u'? + 9u® — 16u® 4 25u" — 32u8 + 320 — 32u* + 2203 — 15u* + Su — 1)

Iy = (—au+b, a®> +au+a—u, u’> +u+1)

* 2 irreducible components of dim¢ = 0, with total 15 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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I

I = (u'%—2u+. - - 4+2b+2, —2u'°4+5u°+..-+2a—9, v —3u0+...-+8u—1)

(i) Arc colorings

ag =

ail =

(ii) Obstruction class = —1

_ 1,10 9 8 7,.21,6_ 19,5 4,5,3
(iii) Cusp Shapes = ju'® —2u” +5u® — 9u’ + Su® — Fu’ +4u* + Ju’ —

Tut+Zu—14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4 w4+ 3ut o 8u 1
C2 utt 4+ 9ut? o 34u -1
c3,C8 u't — w4 —32u — 16
& utt = 3utl 1T+ 2
Ce, C7,C10 U11+3U10+"‘+2U*1

C11

o w130 —2u 4T




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,ca yt 9yt e 34y — 1
C2 gt =11y 1282y — 1
¢3, Cs ytt — 2590 4 ... 4+ 128y — 256
Cs ytt =319 . 4109y — 4
067077010 y11719y10++14y71
C11
€9 Yyt =79y ... — 38y — 49




(vi) Complex Volumes and Cusp Shapes

Solutions to I} VvV—1(vol + /—1CS) Cusp shape

u = —0.417699 4 0.8942391
a= 0.258441+ 0.1357821 | —0.35168 — 1.759401 | —2.35906 + 1.981941
b= 10.229372 — 0.1743921

u = —0.417699 — 0.8942391
a= 0.258441 — 0.1357821 | —0.35168 + 1.759401 | —2.35906 — 1.981941
b= 10.229372 + 0.1743921

u = —0.053436 4 1.1679601
a = —0.409120 — 0.7450461 | —3.73521 + 0.423121 | —13.72245 — 1.165711
b = —0.892048 + 0.4380251

u = —0.053436 — 1.1679601
a = —0.409120 + 0.7450461 | —3.73521 — 0.423121 | —13.72245 + 1.165711
b= —0.892048 — 0.4380251

uw= 123651
a= 153499 19.0799 —11.4300
b= —1.89802

u= 0732319
a = —1.96295 —7.32923 —11.5330
b= 143751

u = 0.289180 + 1.3808801
0.019963 + 1.1253501 | —11.85310 + 3.713251 | —14.2941 — 2.27841
b= 1.54820 — 0.352991

u = 0.289180 — 1.3808801
0.019963 — 1.1253501 | —11.85310 — 3.713251 | —14.2941 + 2.27841
b= 1.54820 + 0.352991

0.61390 + 1.453891
a = 0.404068 — 1.1460401 14.5460 + 6.56631 | —13.47746 — 2.653321
b= —1.91428 + 0.116081

= 0.61390 — 1.453891
a= 0.404068 4 1.1460401 14.5460 — 6.56631 | —13.47746 + 2.653321
b= —1.91428 — 0.116081




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u= 0.167281
a= 288126
b= —0.481979

—0.738036

—13.3310




II. IY = (—au+b, a®>+aut+a—u, u> +u+1)

(i) Arc colorings
1

ay = O
as =
as =
az =

aq =

au—a+u+1
—au —1

(
(
(
(
-
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = au + 2a + 5u — 11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C2,C5 (u? +u+1)2
C3,C8 u?
€4 (u? —u+1)2
C65 C75 C9 (u? +u —1)?
€10, €11 (u? —u—1)2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
cs
C3,C8 314
Cg, C7,C9 (yQ _ 3y + 1)2
€10, C11




(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1 (vol + y/=1C)

Cusp shape

u

= —0.500000 + 0.8660251

a= 0.309017 + 0.5352331

b

= —0.618034

—0.98696 — 2.029881

—13.5000 + 5.40061

u = —0.500000 + 0.8660251
a = —0.80902 — 1.401261

b

= 1.61803

—8.88264 — 2.029881

—13.50000 + 1.527611

u = —0.500000 — 0.8660251
a= 0.309017 — 0.5352331

b

= —0.618034

—0.98696 + 2.029881

—13.5000 — 5.40061

u = —0.500000 — 0.8660251
a = —0.80902 + 1.401261

b:

1.61803

—8.88264 + 2.029881

—13.50000 — 1.527611
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (W +u+ 1)) (u" +3u' 4+ +8u+1)

€2 (W +u+ 1)) (" +9u' + -+ 34u — 1)
3, C8 ut(ut —u'0 4 - — 32u — 16)

C4 (W —u+ 1)) (u + 3w+ +8u+1)

Cs (u? 4+ u+ 1))t = 3u'® + -+ 170+ 2)
Cce, C7 (v 4u—1)H " +3u0 + - F2u—1)

Co (W +u—1)Hr —13u + - —2u+7)
€10, €11 (w* —u =1 (" +3u'®+ - +2u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1s ¢ (P +y+ D))"+ 990+ +34y — 1)

2 (P +y+ D" =11y + - + 1282y — 1)
cs3, Cs yt(ytt — 25910 + .- 4+ 128y — 256)

% (v +y+1)*)(y"" = 31y"% + - + 109y — 4)

C6,C7, C10 ((y2—3y+1)2)(y11 —19y10+-~-+14y—1)
C11
% (v =3y + 1)) (y" = 799" +--- — 38y — 49)
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